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O
ppgave

1
Sm

eltepunktsbestem
m

else

a)
Vijobberidette

punktetm
ed

uavhengige
og

identisk
fordelte

stokastiskevariablerfra
en

nor-
m

alfordeling
m

ed
forventningsverdi

µ
=

1468
◦C

og
standardavvik

σ
=

2
◦C.

La
X

være
en

slik
norm

alfordeltstokastisk
variabel,og

la
Z

være
en

standard
norm

alfordelt
stokastisk

variabel.

P
(X

<
1467)

=
P

(X
≤

1467)
=

P
( X

−
1468

2
≤

1467−
1468

2
)

=
P

(Z
≤
−

12
)

=
Φ

(−
12
)

=
0.3085

A
nta

så
atm

etallurgen
taråtte

uavhengigem
ålingerav

sm
eltepunktet,X

1 ,X
2 ,...,X

8 .
D

a
ergjennom

snittet,
X̄

=
18

∑

8i=
1
X

i ,også
en

norm
alfordeltstokastisk

variabel(siden
det

eren
lineærkom

binasjon
av

uavhengigeog
norm

alfordeltestokastiskevariabler),m
ed

forvent-
ning

og
varians:

E
(X̄

)
=

E
( 18

8
∑i=

1

X
i )

=
18

8
∑i=

1

E
(X

i )
=

18

8
∑i=

1

µ
=

µ
=

1468

V
ar(X̄

)
=

V
ar( 18

8
∑i=

1

X
i )

=
18
2

8
∑i=

1

V
ar(X

i )
=

18
2

8
∑i=

1

σ
2

=
σ

2

8
=

2
28

=
12

P
(1467

<
X̄

<
1469)

=
P

(X̄
≤

1469)−
P

(X̄
≤

1467)

=
P

( X̄
−

1468
√

12

≤
1469−

1468
√

12

)−
P

( X̄
−

1468
√

12

≤
1467−

1468
√

12

)

=
P

(Z
≤
√

2)−
P

(Z
≤
−
√

2)
=

Φ
(1.41)−

Φ
(−

1.41)

=
0.9207−

0.0793
=

0.84
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Viskaliresten
av

oppgaven
anta

atforventningsverdien
tillegeringens

sm
eltepunkt,

µ,erukjent,
m

en
atstandardavvik

erkjentog
lik

σ
=

2
◦C.

b)
U

tledet90%
konfidensintervalfor

µ
basertpå

n
uavhengigem

ålingerav
sm

eltepunktet,X
1 ,X

2 ,...,X
n .

H
erer

σ
kjentog

vibasererosspå
at

Z
=

X̄
−

µ
σ√n

erstandard
norm

alfordelt.
H

erlarvi
α

=
0.1

forå
få

et
(1−

α
)100%

=
90%

konfidensintervall.

P
(−

z
α2

≤
Z

≤
z

α2 )
=

1−
α

P
(−

z
α2

≤
X̄
−

µ
σ
√

n

≤
z

α2 )
=

1−
α

P
(X̄

−
z

α2

σ√n
≤

µ
≤

X̄
+

z
α2

σ√n
)

=
1−

α

P
(µ̂

L
≤

µ
≤

µ̂
U
)

=
1−

α

Lengden
tilintervalletergittsom

L
=

µ̂
U
−

µ̂
L

=
(X̄

+
z

α2

σ√n
)−

(X̄
−

z
α2

σ√n
)

=
2·

z
α2

σ√n

Viobservereratlengden
av

intervalletikke
erstokastisk

når
σ

erkjent.
Viskalfinne

m
inste

n
slik

atlengden
på

intervalletikke
overstiger

3
◦C.

L
≤

3

2·
z

α2

σ√n
≤

3

n
≥

(2·
z

α2

σ3
)
2

Innsatt
z

α2
=

z
0
.0

5
=

1.645
og

σ
=

2
fårvi

n
≥

(2·1.645·
23
)
2

=
4.8
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D
etm

inste
antallobservasjonersom

giretintervallm
ed

lengde
som

ikke
overskrider

3
◦C

er
n

0
=

5.
Vibruker

de
n

0
=

5
første

observasjonene
gittitabellen

ioppgaveteksten
tilå

bestem
m

e
intervalletnum

erisk.Finnerat
x̄

=
15

∑

5i=
1
x

i
=

1468.88.

µ̂
L

=
x̄
−

z
α2

σ
√

n
0

=
1467.41

µ̂
U

=
x̄

+
z

α2

σ
√

n
0

=
1470.35

Som
kvalitetssjekk

observererviatlengden
påintervalletdaer

1470.35−
1467.41

=
2.94

som
erm

indre
enn

3.

c)
Vilarm

etallurgenslangeerfaring
m

ed
legeringenssm

eltepunktværeden
konservativehypote-

sen,nullhypotesen,som
ProfessorStålforsøkerå

bestride.ProfessorStålsangrep
blirda

den
alternativehypotesen.
Vikaller

µ
0

=
1468

◦C,og
fårfølgendehypoteser:

H
0

:
µ

=
µ

0
v
s.

H
1

:
µ

>
µ

0

Vibruker
X̄

=
1n

∑

ni=
1
X

i som
estim

atorfor
µ

og
vivilforkaste

H
0

når
X̄

erstor(fordida
trorvipå

den
alternativehypotesen).Vivetatunder

H
0 så

er

Z
0

=
X̄
−

µ
0

σ√n

standard
norm

alfordelt.H
visviskalforkaste

H
0 når

X̄
erstor,vilviogså

forkaste
H

0 når
Z

0

erstorog
vibestem

m
erossforå

forkaste
H

0 når
Z

0
>

k
(Z

0 erderm
ed

testobservatoren
vår).

Videre
bestem

m
ervi

k
slik

at

P
(typeIfeil)

=
P

(forkaste
H

0 |H
0 ersann

)≤
α
.

Innsatt
Z

0
>

k
forhendelsen

“forkaste
H

0 ”
og

µ
0 forhendelsen

“H
0 sann”:

P
(forkaste

H
0 |H

0 ersann)
≤

α

P
(Z

0
>

k|µ
0 )

≤
α

P
( X̄

−
µ

0
σ√n

>
k|µ

0 )
≤

α

Tallet
k

som
harareal

α
tilhøyre

istandard
norm

alfordelingen
erkvantilen

z
α ,dvs.

k
=

z
α .

D
vs.viforkaster

H
0 når

Z
0

=
X̄
−

µ
0

σ√n

>
z

α
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For
α

=
0.05

er
z
0
.0

5
=

1.645.Videre
harvi

z
0

=
x̄
−

µ
0

σ
√

n

=
1
4
6
9
.0
−

1
4
6
8

2
√

8

=
1.41,som

erm
indre

enn
1.645

og
derm

ed
girdetikkeforkastning.K

onklusjonen
eratdetviharobservert(ellernoe

verre)erganskesannsynlig
(harhøyeresannsynlighetenn

0.05)når
H

0 ersann,og
viforkaster

derm
ed

ikke
H

0 .
N

åvilvisehvorlettdeteråforkaste
H

0 m
ed

regelen
vårhvisivirkeligheten

µ
=

1470.D
enne

sannsynligheten
eravhengig

av
vårtvalgtesignifikansnivåog

hvorm
angeobservasjonervihar

brukttilålagetesten
vår(viharetstørreforkastningsom

rådenårviharm
angeobservasjoner).

Viskalfinne
etm

inim
um

antallobservasjoner,n,slik
at

P
(Forkaste

H
0 |H

0 ergalog
ivirkeligheten

µ
=

1470)
≥

0.99.U
tfordringen

vårernå
at

Z
0

ikkelengererstandard
norm

alfordelt(siden
µ

0 ikkeerden
riktigeforventningen),slik

atvim
å

bruke
at

Z
=

X̄
−

µ
σ
√

n

innsatt
µ

=
1470

erstandard
norm

afordelt.

P
(Forkaste

H
0 |H

0 galog
ivirkeligheten

µ
=

1470)
≥

0.99

P
(Z

0
>

z
α |µ

=
1470)

≥
0.99

P
( X̄

−
µ

0
σ√n

>
z

α |µ
=

1470)
≥

0.99

P
(X̄

>
µ

0
+

z
α

σ√n |µ
=

1470)
≥

0.99

P
( X̄

−
1470

σ√n

>
µ

0 −
1470

σ√n

+
z

α |µ
=

1470)
≥

0.99

N
år

µ
=

1470
er

X̄
−

1
4
7
0

σ
√

n

iligningen
overstandard

norm
alfordelt,og

vikan
m

atche
µ

0
−

1
4
7
0

σ
√

n

+
z

α

m
ed

kvantilen
istandard

norm
alfordelingen

som
harareal

0.99
tilhøyre

forseg
(siden

detstår
>

iulikheten).A
real

0.99
tilhøyrehar−

z
0
.0

1 kvantilen.Visetterinn
for

µ
0

=
1468,σ

=
2

og
α

=
0.05,slik

atvifokusererpå
atdeterkun

n
som

erukjent.Iførste
overgangen

harvidelt
på

etnegativttallog
m

å
snu

ulikhetstegnet.
1468−

1470
2√n

+
z
0
.0

5
≤

−
z
0
.0

1

√
n

≥
−

(z
0
.0

1
+

z
0
.0

5 )·
2

1468−
1470

n
≥

( −
(z

0
.0

1
+

z
0
.0

5 )·
2

1468−
1470

)
2

n
≥

( −
(2.326

+
1.645)·

2

1468−
1470

)
2

=
15.77

D
etm

inste
antalletobservasjoner

som
gir

styrke
0.99

ialternativet
µ

=
1470

er
n

=
16

observasjoner.
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O
ppgave

2
Ventetid

på
snekkertjenester

a)
Sannsynligheten

foratventetiden
erlengerenn

2
uker:

P
(X

>
2)

=
1−

P
(X

≤
2)

=
1−

F
(2)

=
1−

(1−
ex

p
(−

0.04·2
2))

=
ex

p
(−

0.16)
=

0.8521 .

Sannsynligheten
foratdu

m
å

ventem
inst5

uker,gittatdu
m

å
venteim

inst2
uker:

P
(X

>
5|X

>
2)

=
P

(X
>

5∩
X

>
2)

P
(X

>
2)

=
P

(X
>

5)

P
(X

>
2)

=
1−

P
(X

≤
5)

P
(X

>
2)

=
1−

F
(5)

P
(X

>
2)

=
1−

(1−
ex

p
(−

0.04·
5

2))

0.8521
=

0.3679

0.8521
=

0.4317.

Sannsynlighetstettheten
til

X
for

x
≥

0
finnervived

å
derivere

F
(x

):

f
(x

)
=

d
F

(x
)

d
x

=
0−

(−
2α

x
ex

p
(−

α
x

2))
=

2α
x

ex
p
(−

α
x

2),
for

x
≥

0.

b)
SM

E
for

α:
Finnerførstrim

elighetsfunksjonen,som
ersim

ultanfordelingenfor
X

1 ,X
2 ,...,X

n settpåsom
funksjon

av
x

i ’ene
og

α:

L
(x

1 ,x
2 ,...,x

n ;α
)

=
f
(x

1 ,x
2 ,...,x

n ;α
)

=
n

∏i=
1

f
(x

i ;α
)

=
n

∏i=
1

2α
x

i ex
p
(−

α
x

2i )
=

2
nα

n(
n

∏i=
1

x
i )

ex
p
(−

α
n

∑i=
1

x
2i ).

Tarlogaritm
en:

l(x
1 ,x

2 ,...,x
n ;α

)
=

ln
L

(x
1 ,x

2 ,...,x
n ;α

)
=

nln
2

+
nln

α
+

n
∑i=

1 lnx
i −

α

n
∑i=

1

x
2i .

D
erivererm

ed
hensyn

på
α

og
setterlik

0:

∂
l(x

1 ,x
2 ,...,x

n ;α
)

∂
α

=
0

+
nα

+
0−

n
∑i=

1

x
2i

=
0

nα
=

n
∑i=

1

x
2i

α
=

n
∑

ni=
1
x

2i .
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D
vs.SM

E
for

α
er

α
∗

=
n

∑

ni=
1
x

2i ,som
erulik

α̂.
α̂

erderm
ed

ikkeSM
E

for
α.

Estim
ator

µ̂
for

µ:
µ̂

=

√
π

2 √
α̂

=

√
π
√

∑

ni=
1
X

2i

2(n
−

1)
.

Innsattverdierblir
α̂

=
0.029

og
estim

atetfor
µ

blir
µ̂

=

√
π

2 √
α̂

=

√
π

2 √
0.029

=
5.2

uker.

c)
Sannsynlighetsfordelingen

for
Y

=
X

2finnervived
å

bruketransform
asjonsform

elen.
La

Y
=

u
(X

)
=

X
2slik

at
X

=
w

(Y
)

=
√

Y
(harat

X
>

0).D
erm

ed
er

f
Y
(y

)
=

f
X

(w
(y

))|w
′(y

)|
=

2α √
y

ex
p
(−

α
( √

y
)
2)|

1

2 √
y |

=
α

ex
p
(−

α
y
).

D
ette

ersannsynlighetstettheten
ieksponensialfordelingen

m
ed

forventning
1/α,og

derm
ed

harvivistat
Y

ereksponensialfordelt.
Forventningsverdifor

α̂:

E
(α̂

)
=

E
(

n
−

1
∑

ni=
1
X

2i

)

=
(n−

1)·E
(

1
∑

ni=
1
X

2i

)

=
(n−

1)·
1

(1/α
)(n

−
1)

=
n
−

1

n
−

1
α

=
α
.

H
erharvibruktresultatetoppgittioppgaveteksten.

Siden
E
(α̂

)
=

α,er
α̂

forventningsrett.

O
ppgave

3
U

lykker

a)
Viharat

X
i erPoisson-fordeltm

ed
E

(X
i )

=
a

i λ.IPoisson-fordelingen
erogså

V
ar(X

i )
=

a
i λ.

Forventningsverdien
tilde

to
estim

atorene
Λ̂

og
Λ
∗

E
(Λ̂

)
=

1n

n
∑i=

1

1a
i E

(X
i )

=
1n

n
∑i=

1

1a
i a

i λ
=

1n
·
n
·
λ

=
λ

E
(Λ

∗)
=

∑

ni=
1
E

(X
i )

∑

ni=
1
a

i

=

∑

ni=
1
a

i λ
∑

ni=
1
a

i

=
λ
·
∑

ni=
1
a

i
∑

ni=
1
a

i

=
λ
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Variansen
tilde

to
estim

atorene
Λ̂

og
Λ
∗

V
ar(Λ̂

)
=

1n
2

n
∑i=

1

1a
2i

V
ar(X

i )
=

1n
2

n
∑i=

1

1a
2i a

i λ
=

λ
·

1n
2 ·

n
∑i=

1

1a
i

V
ar(Λ

∗)
=

∑

ni=
1
V
ar(X

i )

(
∑

ni=
1
a

i )
2

=

∑

ni=
1
a

i λ

(
∑

ni=
1
a

i )
2

=
λ
·

1
∑

ni=
1
a

i

N
um

eriskeverdierfor
Λ̂

og
Λ
∗fra

dataitabell2.

λ̂
=

15

5
∑i=

1

x
i

a
i

=
15
·
4.33·

10
−

5
=

8.67·10
−

6

λ
∗

=

∑

5i=
1
x

i
∑

5i=
1
a

i

=
8

9.0·
10

5
=

8.89·
10

−
6

H
vilken

av
de

to
estim

atorene
ville

du
foretrekke

idenne
situasjonen?

Begge
estim

atorene
er

forventningsrette,m
en

de
har

ulik
varians.N

um
erisk

varians
(på

konstantnær
pga.at

λ
er

ukjent):V
ar(Λ̂

)
=

λ
·

1n
2 ·

n
∑i=

1

1a
i

=
1.63·10

−
6·

λ

V
ar(Λ

∗)
=

λ
·

1
∑

ni=
1
a

i

=
1.11·

10
−

6·λ

Beggeestim
atoreneerforventningsrette,m

en
estim

atoren
Λ
∗harm

instvarians.D
erforsåfore-

trekkervi
Λ
∗.

b)
Fordelingen

til
Y

erden
betingede

fordelingen
til

X
gittat

X
≥

1
(m

instén
storulykke).Vi

benytteriutledningen
at

X
erPoisson-fordeltm

ed
punktsannsynlighet

P
(X

=
x
)

=
(a

λ
)
xe
−

a
λ

x
!

.

D
erm

ed
harvi:

P
(Y

=
y
)

=
P

(X
=

y|X
≥

1)
=

P
(X

=
y∩

X
≥

1)

P
(X

≥
1)

=
P

(X
=

y
)

P
(X

≥
1)

=
P

(X
=

y
)

1−
P

(X
=

0)

=

(a
λ
)
y

y
!

e
−

a
λ

1−
(a

λ
)
0

0
!

e
−

a
λ

=
(a

λ
)
y

y
!
·

e
−

a
λ

1−
e
−

a
λ
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som
skullevises.

Forventningsverdien
til

Y
finnervifra

E
(Y

)
=

∑

∞y
=

1
y·

P
(Y

=
y
),innsatt

P
(Y

=
y
).

E
(Y

)
=

∞
∑y
=

1

y·
P

(Y
=

y
)

=

∞
∑y
=

1

y·
(a

λ
)
y

y
!
·

e
−

a
λ

1−
e
−

a
λ

=
∞

∑y
=

1

(a
λ
)
y

(y−
1)! ·

e
−

a
λ

1−
e
−

a
λ

=
∞

∑z
=

0

(a
λ
)
z
+

1

z!
·

e
−

a
λ

1−
e
−

a
λ

=
a
λ

1−
e
−

a
λ

∞
∑z
=

0

(a
λ
)
z

z!
e
−

a
λ

=
a
λ

1−
e
−

a
λ
·
1

=
a
λ

1−
e
−

a
λ

Skiftetav
sum

fra
y

=
(1,∞

)til
z

=
y
−

1
der

z
=

(0,∞
)erforå

få
∑

∞z
=

0
(a

λ
)
z

z
!

e
−

a
λ

=
1

siden
dette

ersum
overalle

punktsannsynligheterien
Poisson-fordeling

m
ed

forventning
a
λ.


